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QUESTION 1

In which phase are functions from the ESM Console (such as NS lookup, Ping, Port info, Trace route and who is)

performed?
A. Workflow
B. Analysis
C. Trending
D. Correlation

Correct Answer: B

QUESTION 2

Which component is customer-built?
A. Nodes

B. Adapters

C. Flex Connectors

D. Collectors

Correct Answer: C

QUESTION 3

The normalization process occurs at which event lifecycle phase?
A. Reporting and incident analysis

B. Monitoring and investigation

C. Priority evaluation and network model lookup

D. Data collection and event processing

Correct Answer: C

QUESTION 4
Which statement is correct?

A. ArcSight Logger event schema is different from the ESM event schema
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B. ArcSight Logger receives events from Connectors rather than from raw events
C. ArcSight Logger cannot compress data.
D. ArcSight Logger must be used together with an ArcSight ESM

Correct Answer: B

QUESTION 5

Which component performs the data collection and normalization?
A. Data monitors

B. FSM manager

C. Smart Connectors

D. Correlation engine

Correct Answer: C
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